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IndAs 23 Borrowing costs

eg loan taken Pay If Borrowing costs

coupon EIR Jut Disc Prem TrCost

Borrowing cost

c

Incurred on a Not incurredon

qualifying asset qualifying asset

CapitaliseBorrowingcost B c PIL

Add to the cost of
asset

IndAS Judgement

QalifyingAss Asset which takes substantial periodof time toget
readyfor its intended use on sale



Examples
I SpecificBorrowings

Eg loan taken on 01041 1 of 100 crores 121 for 12mouths
loan was taken for construction of a Bldg which commenced on or on

I was completedon 31 031 2
The compt invested idlefunds earns 0.5 crores

Calculate Borrowing cost to be capitalised

Sol Total BorrCost Actual 1000 12
1,22mm

12crores

f Income fromTemp Innist 0.5crores

Borrowingcost to becap 115 crores Addtocost
of asset

Eg2 Assume in the above example the construction of the Bldg was
completed within 9m Assume this is substantial period

Also assume 0.5 crores income on TempInnist was earned during this 9monly

Sd Total B C 100or 12
9,2m

der

C1 Income from Temp Invst 0.5 er

B C to becapitalised 8.5 or

Bal 3m Jut PIL



Eg3 Specific Borrowing

loan taken on 01041 1 of 100crores 12 p.a for12 months
Funds utilization isgiven below

100W
ridle

oilon 300 Immunkin I
011081 1 70W 0014 011018

300 170in
Idle funds were invested ftp.a
loan taken for construction ofBldg which took 12months
Calculate B c to becapitalised

Soin Total B C looer 121 1,2
2

120

Is Income from Temp Innist 1.630

Fourx 71

B C Cost to be 10.37or

cap

Facts 101 office 201

575
915 capitalised 90.000 180000

101 91 1212 201 91 1412

ess IncomefromTemp Invst 17500 35000

staffto30s 52 71 6112 To's'ep 184 71
6112

B C to be cap 72500 145000

Total costof Asset 1072500 2145,000
101 72500 201 145000



EggGeneralBorrowing
on 01041 1 Term loan 12 100 w

Bank loan 14 75W

Debentures 8 125or

Eff ftg gustation
ofBldg construction startedon oilouk

completedon 31031 2

01 07 71 75 crores

01 01 72 25 crores

Compute B c to be capitalised

I step weightedAvgcostofcap TotalJut weightedAvg 100

CapitalizationRate Total Borrowings weightedAug

Her 10.5or tour

100or 75ur 125cg
10

32.5or

3001
100

10.83 7 a
Maan lena that

we havesingle loan

of 300or 1083 p a



Step 2 Borr Cost to be capitalised
01 04 71 50 or 10 83

12
12 5.42 or

01 071 1 75er x 10.83 9
12 6.09 or

01 01 42 25hr 10.83 3 12 0.68 er

total B C to be cap 12.19 orapprox

TotalJut32.5er

12 or 2 31 Blf

cap pic

Note Wededuct idle funds Income only in caseof specificBorrowing 4 not
in case ofgeneral Borrowing i.e Noconceptofidlefundsincome ingenBorr
why

In specificBorrowing we take Jut on full Amt of loan irrespectiveof
whether it was fully used or not

i Deduct Incomefromidlefunds

But in case ofgeneral Borr we computeB c to becapitalisedonlyfor
the months expense was incurred



Egs specificBorrowing General Borrowing

011041 1 specificBorrowing 10 loan 30crores

01 041 1 GeneralBorrowing Team loan 121 100crores

Bank loan 141 75crores

011071 1 General Borrowing Deb 8 125crores

utilization of funds inQualifying Asset
01041 1 four

30W S B
s 20W G B

01 071 1 750 GB

01 01 72 250 GB

Const completed on 3131 2 Calculated B C to be capitalized

so step capitalizationRate wace fffht.LIngstefIagntedangexude 5 B

120 105 er 7 gg
1259 8 12

100or 75er 125hr93.75er
12500912

11 16 p a



Step Cal ofB C to becap
A S B 306 10 12 12 30

B G B

010471 soer 300 S B

door 11 161 12 12 2.23er

01.07.71 7508 11116 91,2
628 or

0101 2 2518 X 11 16 31,2 070 er

1221 er Total B C to be Cap
approx S B GB

Illus 8

i Sp Borrowing 141Deb taken forofcBldg Activitiesnotyetstarted
No B C will be capfor Sp Borr

i General Borrowings used for constof Plant

step capRate WACC Total weightedAvgJut
e clades B Total weightedAvgBorrowings

180 480
1000 3000

100 16.5

Step B C to be cap
01 041 1 51 16.51 12 12 82500

011011 2 252 16.51 312 103125

185625



Illus 13 LDR

Constperiod 01 04 17 to 3101 18 10m

step CapRate Wace Total weightedAvgJut
CefcludesB Total weightedAvgBorrowings

71 121 91 111 114375 0011.447p.a
71 91 p a

step B to becap
SB aexqyyyy.mn

costperiod

15000

G B

01 0417 1.52 SB

0108 17 50k S B

150000 11.937

11118
8578

01 10 17 350000 1143751 13344

01 01 18 100000 1143751 953

B Cto be cap 37871

IE forcapitalising cost a B c
31 01 18 Bldg AIC Dd 837875 Bldg Alene 837875
ssume TOCIB 800000 TOUB 837875
gut is
payable to JutPayable 37875 Assume Jet is paid



Illus 14 LPR

step cap Rate 101 1

fff
11 p a

Step B C to be capitalised
S B 65000 20000 45000

GB 1ˢᵗApril 22 SB

30ᵗ Jhune S2 S B

100000 111 9
12 8250

31stDec 1200000 11 312 33000

31ˢᵗMarch 200000 11 0
12 NIL

B c to be cap 86250



Illus 16 LDR

Step Cashflows plotDisc
200000 20000 180000 netinflow

1 4 20kp a outflow coupon 10

4ᵗ yhrend 24 outflow Prine
reDay inflow outflow

FV Tip Assume

Step2 Fair value of FL compute FU PVOFFCF EIRCRelation.CFI level input

F V of FL Bonds 180000

Step EIR 13.39

Step LAT FL fordyrs BC to be cap onlyfor2yn
CoustPeriod 24ns

Yrend Opn Jut 13.39 Repay CU

I 180000 24102 20000 184102

2 184102 24651 20000 188753

48753
H

B C to becap as per IndAS23



Quest UR

Assumption Dec trend loan was Is for full 12months i e loan was
taken on 1ˢᵗ Jan
Note Const period 4m in currentyear But it is not relevant to calculate

cap Rate Coustperiod is relevant in step B c tobecap but it is not

asked in the ques

OFI Give Deb 301091 Overdraft
12m 4C 11m 8 1m

JantoNov
Delgg

an cantoseptum
effusion

127
15

Cap Rate WACC Total Jut weightedAug WM

Total Borrowings weightedAug una

326000 100 9.50 approx
3433334

Uni Total Jut wN Total Borrowings

549 1242 270000 1412 301

Overdraft
30000041 121 912 36000

41 15 72 12 10000 41 2 12 66667

81 151 1 12 10000 81 1 12 66667

326000 34,33334



Illus 17 LDR

Cg 12m

11 Countperiod1310 next ur im

B to becap C J

6201 570 PUM Q Ar
loan 54 Add Asset Q Ar

56 workscap QA

Cons Justal
Rennafiffarted complel

IEE.fi em
PartA Coust period 13m c2 12m Q.AT

Step Caprate 68201 100
6201

III11
pam

step B c to be cap 68 201

14
561

Plant aMacht 5101 11 12 12 56.101 6

Adv forAdd Assets 54L 11 12 12 5 941 68 20 5,4 594

ImondCap Not a d A

InB C to becap

B C trf to PIL

WC 561 11 12 12 6.16L



Note AdvPaidwas 541 we calculate B C when exp on QA is paid
Notaccrued i e we will considercashBasis 4

not accrual Basis forexpon QA

Sand constperiod 11m

In this quesmanagement considers 12mto be substantial

i It will not be a QA a full Jut will be trf PIL

Ques 2 LDR

Step CapRate WACC 11

Step B C to be capitalised constperiod 1ˢᵗsept x1 to 31031 2 7m

B C Based on CostAccrued B c Based on cashoutflows Adpaid

Sept 1 or 11 7m 12m 962500
Sept 3urx 111 7m12m 192500

Oct Orser 111 6m
12m 275000 Oct 1 terx 11 7612m 935000

Now 1 Scr 111 5m 12m 687500 May 2.5 X 11 5m 12m 114583

see 0 5er 111 4m 12m 183333
Dee

Jan 1.8or 111 3 12m 495000 Jan 1 11 3112m 225000

Feb O fer 111 2112m 128333 Feb
Mar 30 117 12m 275000 may 15er 11 1

12 137500

B c cap AsperAcer 3006,667 44,181333

0.30 or 0 44er

B Ccap Based on cashoutflows
Basis is more appropriate

ReferG B
Refasten



toraNote

B C cap should not exceed the total Amt of Jut

Illus 15 CDR

A Real Estate Company
SpecificBorrowing 1000,000 71 70000 capitalise

Exp incurred was 1540,000 but since loan was taken onlyfor 10,001000

i Jut on 1000,000 will be capitalised

Construction Company

Exp incurred on Q A 10,00000

But since no Borrowing was taken No Int will be capitalised

taken 20.00.000

But finance co did not use the Borrowing for QA No Jut will becap

0 ParentCo Groupas a coliole

Borrowings 101 71 WACC CapRate 7 TotalBorrowings 301

201 71

Exp on Q A
14,00 000 71 x 12 12 98000

Iudes lotmargin 1540000 110
14000000 1001



2 10,00000 71 12 12 70000

Total B C cap 168000

In CFS

Ine take Borrowings in whole Group 2 we also considerExp on QA as

a whole group excluding any inter coProfitmargin

Individually some exp on D A might be self
fundedbyCo But stid from

groups point ofview if we have Borrowings we will assume that

Exp on a A was funded by Borrowings

Periodof cap

Commencement

Exp incur

Activitystarts Planning Paper legal work
c B C incurt

AttosemI
2 Suspend

ego court start 0104 71

oilMov 11 to 30 Nov1 1 strike I ms cap sup 11m B e

cap
Cant end 31031 2



eg Com start 011041 1 Bridge

12m B c
o Nov 11 to 30 Nov Bridge suknnekorap.name cap

capsuspends not
yourCourt complete 31031 2 const

3 Cessation

Tower complex
combined Borrowingtaken

Bldg A Blage 2 62 1
complete progress

11 after 9m

option cap should
continuforAll 4 Bidgs even after 9m

option Bldg AUB Bldg CUD JrC stop cap continue
after 9m after 9m



Ques3 LDR

Total Expincurred AU 4 phases 221 lakhs
loan taken 151 200 lakhs

Total Jutedest Incurred 30.00.000 fullyear 2001 15

9

Phase I UII Phase II UTI

Cost incurred 34L 64L Costincurred 55L 682

98L 1231

Jut for Phase I UII 301 9
4

It for Phase III 9 301 1231
221L

1330,317 fullyr 16,69683 fully

tellcap
Readyin 6m 6m Bal

midof theUv
He

665758.5
1 6687,58 5

cap PIL

Total Jut Cap 665158.5 16 69,683
2334841 5

Total Jut Trf top 1 665158.5



Ques4 UR
B C to be capitalised

1 For the year ended 311031 1

B C cap MIL

There were noBorrowings taken during this year MO B C to becap

For the year ended 311031 2
Scores 011011 1 to 301061 1 B CCap NIL

01071 1 to 31031 29 9m Sox 101 42 0.375

2 20 crores 01071 1 to 31031 2 9m 20or 101
9,2

1.5

3 20 crores Expincurred on 31031 2 door lot
last day of theyear

B C to becap for the yrended3131 2 1.875

3 For the year ended 311031 3 Asset was readyon 3006 72 ceasecap
CA ofasset WIP on ayy 45 11875 46 875

46.875 oiloux2 to301061 2 46.875 101
3,1m

1 17

For 301061 2 since on thisday asset is ready capceases
serx 10 0 12

B C to be cap 3131 3 1.17



WE In the aboveques it was noted that for the qr 311031 3 when we
compute B C to be cap we will take benefit of B C cap on

Exp incurredin X1 X2 t B c cap of X1 X2 PermittedbyInd AS23

anastide not common District Approval is minorwook pending
4m nomingoing 3m suspend 2m Fgbing mm

011061 2 300972 catudslide31121 2 280213 1603

8tmon c

capstop cap minorhis timeline
steps workyou can also present in theory format

pending

Cap period 6m

B C Cap 1001 12 6 00,000

i District

4m workongoing 3m Susp Approval

I 1 I 1 mum
011061 2 30091 2 common 311272 280213 1610317

Parthustrue Plex
chipwill u
notstep major

capperiod 9.5m 011061 2 to 161031 3 work
pending

B C to be cap 1001 12
95,21m

950000

cap
stops



Exchange Diff to be treated as Borrowing costs

Egs AK Vietuals Indian a loan taken for a G A 10000 Us Bank 5
pa

on oilon 1

Similar loan in India is provided 121p.a
Exchange rate on 011041 1 70

on 31031 2 75

501 loan on 01041 1 10000

Jut 5 on Land 500

70

7751
37500 capitalise

Prine Aunt Ex loss on Yr end 2701 75 10000

50,000 Ex 1055

c

Max loss that can be cap
Bal Pll Exloss

46500 3500

Jut on equivalent loan from India
10000 270 7 00,000 121 84000 s

Jut on foreign loan 37500

Alreadycap allowed
Max loss that 46500 A B

can be cap
TotalB cap 37500 46500 84000



Illus 5 ReferQ B

solved Example LPR

trend 31 032

Jut on foreign loan 1000 41 x 2501 2000 Capitalise
Addto the costof

asset

Exchange loss 210,000 40 50 10003

u n

Max loss that can be capitalised Bal Ex loss PIL

D Juton Indian loan 4800 40000 12 7 7200

2 Juton foreign loan 2000 PIL
Max Ex losscap 2800

Total cap
Jut 2000

EXCOSS 2800

4800

Case A ExchangeRate on 3131 3 48 40750748
1,31312,1

Jut on foreign loan 1000 4 48 71920W capitalize



Ex Gain 1000 50 2481
2000

to the extent of Prey Exch loss capitalised lie 2800

we will deduct this Exchgain fromcostofasset i e Reversalof capitalisatio
In this case full 2000 will be Reversecap i.e lessfrom the costof

asset

Case B If exchange rate wass I 44 on 3131 3 140 5074,4317312 311313

Jut on foreign loan 1000 4 7491 1760 cap
ExGain 1000 50 4418

6000

C

To the extent Bal Gain CPIL

ofPrey losscap 23200

ExCrain Reversalof
capi e less from costof

72800 asset

case C If exchange was 44 600 Borrowings repaid last yr
i e only 400 Prin 01s X2 3

Jut on foreign loan 400 41 x 7441 704 Cap



Ex Gain 10002 400 7501 E441
2400

E

Equivalentportion Bal Gain

ofexchange loss 1280 PIL

2800 1000

1120 400

1120

takxGain Reversecap

0
Egf 1styr to 5000 cap

2ⁿᵈYr Efrain 7000
5000 Revcap

2000 PIL

Eg If ExGain 4000

Satasun off Te

Monday aana Ind AS19


